ADC3422
Channel C and D Input
Sheet 3

ADC3422
Channel A and B Input
Sheet 2

ADC3422
Sheet 4

Clock Input
Sheet 5

LVDS Outputs
Sheet 6

USB Interface
Sheet 7

TPS62237, INAT38
TPS7A4901
TPS7A3001
TPS60402

Sheet 8

DNI

= DO NOT INSTALL

Ri# TEXAS INSTRUMENTS

A

[Title

SCH, TSW3422EVM

Size

Engineer: Ken Chan 8/15

B

PCB: JV Smith 8/15

Document Number

TIDA-00799

Rev

E2

Date:

Thursday, September 01, 2016 [Sheet 1 of 8
| 1

2




DNI

C101;, .1uF
] D
CHANNEL B BIN{ R36 402 BIN_-
€100, .1uF
Ja [SUA] B_INP Baveow 47V DNI
BINP = BIN- R37 402 BIN +
R38 +4.7V
= 61.9 R39 348 _BLNP L6 R23 1
- S o BINM SH4
0 l o l ” s
10
= VS+ c20 c21 R24 B
R40 162 23 ouTs 2 —[56p|: —[lBODF 422
L7
B_INM, . R42 162 6 1 R43 34.8 BLNM - R26 5.1
BINM IN- ouT- ¢ 390nH D> BINP SH4
3 _
R44 PD
— : 1.
= 61.9 SH2.4  VeM ((-R45 A 100 "y voem Vs j’
Cop  THSAAL  —
.O1uF
D6 +4.7V
BAVO9IW — +4.7V c
SHUNT 1-2 _T_lm:
= co4 C95
.1uF .1uF
DNI
C102;, .1uF “
]
CHANNEL A CIN+ [ R46 402 | CIN_-
+4.7V
D3 C99 H AuF
C_INP . BAVI9W DNI
AINP CIN- | R47 402 CIN_+
R48 +4.7V
= 61.9 R49 348 _ CINP W R50 5.1
i AR >> AINP - SH4
10
= VSt c25 C26 _ >Re2 B
R51 162 40 e ouTs K2 TSGpF ‘J’lSOPF 422
R52 162 6 1 R 4. CI_NM 1 1
5 6 IN- oUT- 3 348 e R9 >> AINM  SH4
3y 55
SH2.4 VM (BB AAALS Ty voem  vs-
Cp7  THS4541 ]—:
I .O1uF
+4.7V
D7 =
BAvoow &IV
1
C96 co7
l 1uF 1uF
b A
[Title
SCH, TSW3422EVM
Size Document Number Rev
B TIDA-00799 E2
Date: Thursday, September 01, 2016 [Sheet 2 of 8
3 | 1




c1 R1 R2
CHANNEL D AN+ . AINP P AINPP_P RS O > DINM SH4
AuF 49.9
J1 SMA A INP R4 SHARED PAD L1 . -
DINP A T1 T2 AL 11pF caps in parallel to avoid stub
. TLP 3 4 AI_NP 6 1 Install 82nH in high frequency mode
- DNI
2 5 5 2 11pF
) TiMm |1 °§ §° 6 ALNM 4 § é 3
32 [SEE A INM R9 SHARED PAD ADT1-1WT+ ADT1-1WT+ L3
DINM * 39nH 9 =
DNI DNI l 15': l C16|:
u u c7 R13 R14
= AIN- AINM_M AINMM_M 0
= | ° e - P >> DINP  SH4
= = AuF 49.9 0
VIN- _R16 200
4.7V +47V 1%
b1 +4.7V
BAVI9W
CHANNEL C ~[ U1 R17 249
2 OPA656NB
6 OUT+] Ri18 442 NPl R19 542 C8 || 5.6pF
JR22 150 DAVP R89 49.9 DIN.P| 3 ’ VNV I ¢ I
1% €9
<| -4V 16pF
:I:SpF : INM o R27 542 C10 | 5.6pF
d 11
1 = ?gg R29 249
JP1 2 Y R30
. (1]
500hm/1Mohm 442
R31 >R32 4.7V ) +4.7V L
49.9 S1M = L4
R20 80.6 DBIN+ -0 _DBINP_ R21 5.1 5> CINP - SH4
A7V u2 240nH
C16 c17 =+ THS4541
= 68uF pesup 51+ Fee A R25
6 316
= Vs+
— =i VS+
= 8 | vs+ Fe- — Sczlsz
C13 || 56pF INY 2,0 OUTs |10_B* _[
L5
- - . - DBIN_M .
N 3 ouT. |1LB R33 80.6DBIN e _ 4 R34 5.1 5> CINM  SHa
+1.2V l —
— N PD R35
9y vocm VS- ﬁ 316
c98 VS: 15
IuF VS- 716 =
I PWRPAD VS- -
+4.7V
1 f [
[oo 1o Jow T 1o, [EXAS INSTRUMENTS
10uF 1uF AuF T.luF T.luF
10%, 10V, X7R ) 10%, 50V, X7R Title
° ° T 1 SCH, TSW3422EVM
. Size Document Number Rev
B TIDA-00799 E2
Date: Thursday, September 01, 2016 [Sheet 3 of 8
5 4 3 2 | 1




DNI = DO NOT INSTALL

DBOM SH6
AVDD1.8V DBOP SH6 D
DBIM SH6
DB1P SH6
ca1 c42
AuF Z=AUF DCLKM SH6
DCLKP SH6
FCLKM SH6
— FCLKP SH6
DCOM SH6
DVDD1.8V AVDD1.8Y DCOP SH6 -
DCIM SH6
DVDD1.8V DC1P SH6
o)
c43 ca4 c45 C46
IzzuF I.ZZUF I.ZZUF ]-.22u|:
? [<e] [Tol A5d [32] [SV] Gud (=2 [=2) (=] [ (22 1¥2) ool (52
[Yo] [Te] {To] (Yol Yol [Te] [¥ol ASd ASdl ASd S A5al ASd AN
2625R2C2C 2525
DOMASTITI50000
— N0QA0Qpa0LOOAALAD c
- Aa0ww
57 42
POWERPAD DDOM [77 DDggg/' 85:66
DDOP
SH6 DALP % DALP DDIM gg DDIM SH6 fDPDZN DvDD1.8vV
SH6 DA1M 37 DAIM DDIP [35 DD1P SH6 1
SH6 DAOP 4| DAOP DVDD 5= ppn AVDDL8V oN 2 19
SH6 DAOM = DAOM Us PDN |35 o 3
6 | DVDD ADC3422 AVDD 735 L
= AVDD INDM [57 >§ DINM SH2 SHUNT 2.3 —
5] AvDD INDP {53 DINP SH2 =
SH3 AINM ;< 5 INAM AVDD |35 i
SH3 AINP 707 INAP AVDD 37
77| AVDD INCP {55 >écwp SH2
75 AVDD INCM {55 CINM SH2
SH3 BINP %> 737 INBP as AVDD
SH3 BINM T2 INBM - g
DVDD1.8V AVDD 8‘5288&§8g°‘°‘§8
-
’ >oouo>ff>mggo>
CNNNNCOOICXENN >
wmwjop~tole e |H|NMm | ||~
e e [ NN NN NN NN
R56
1k
B
MASTER I3 DUT
el
SH7 SCLK <& ® & 5 P4 CCSYSREFM  SH5
SH7 SDATA < X SYSREFP SH5
SH7 SEN <& 2 gl g CLKINM  SH5
== 5 JP6 CLKINP SH5
SH7 SDOUT < o @
DVDD1.8V TP1
VCMOUT
Swi1 RED ||
R57 N
5 0o . RESET >» VCM  SH2,3
1k ADC RESET ca7 iﬁ?:
R58 01uF :
10k —
{I | | A
Title
SCH, TSW3422EVM
Size Document Number Rev
B TIDA-00799 E2
Date: Thursday, September 01, 2016 [Sheet
3 2 | 1




ADT4-6WT+

C50
.1uF

=

1 clock NP o CLK_INP
11
1uF
R59
49.9
DNI
J10 C53 T4
SYSREF_IN u% 1 SYSREF_IN H o SYSREFINP 1
T 1uF
R63
49.9 2 5

.||
w

= DNI
6

J_r ADT4-6WT+

C54
AuF

MECHANICAL PARTS

BARE BOARD, TSW3422

SCREW PANHEAD 4-40 x 3/8 SCREW PANHEAD 4-40 x 3/8 SCREW PANHEAD 4-40 x 3/8

SCREW PANHEAD 4-40 x 3/8

STANDOFF ALUM HEX 4-40 x .500 STANDOFF ALUM HEX 4-40 x .500  STANDOFF ALUM HEX 4-40 x .500 STANDOFF ALUM HEX 4-40 x .500

CLKINP SH4
CLKINM SH4

—;; SYSREFP SH4

SYSREFM SH4

Ri# TEXAS INSTRUMENTS

[Title
SCH, TSW3422EVM
Size Document Number Rev
B TIDA-00799 E2
Date: Tr|1ursday. September 01, 2016 [Sheet 5 of
5 4 1




SH4
SH4

SH4
SH4

SH4
SH4

SH4
SH4

SH4
SH4

SH4
SH4

SH4
SH4

SH4
SH4

SH4
SH4

SH4
SH4

DAOM
DAOP §<

DA1M
DA1P §<

DBOM
DBOP §<

DB1M
DB1P ;<

DCLKM 2
DCLKP

J12A

FCLKM 2
FCLKP

DCOM
DCOP §<

DCIM
DC1P §<

DDOM
DDOP §<

DD1M
DD1P §<

2 1
4 3
6 5
6 5
8 7
8 7
10 9
12| 10 9t
12 Hon
14 13
5 14 13 Mz
5116 M 15
18 17
20 19
—55 20 19
22 21
51 22 21 53
24 23
26 25
26 25
28 27
—5128 — 27
30 29
32 |0 29 1731
32 M 31
34 33
34 33
36 35
35 36 35 53
38 37 35—
40 39
40 39
42 41
42 41 73
w4 Y s
46 45 77—
48 47
48 [ 47
50 49
=5 50 49 =7
52 51 25—
54 53
=51 54 53 2=
=5 56 55 B—
201 58 57 23
60 — 59
122 121
57| GND  GND 53
GND  GND
J12B
62 | 61 |61
64 63
64 63 gz
66 65
ca1 66 65 5>
68 67
70 69
727 70 69 71—
74 |2 — 7173
74 73
76 75
%6 M 75—
78 77
551 78 77 g
80 79
82 81
82 81
84 83
84 83 Fg=—
86 85
g5 86 85 5>
88 — 87
90 89
90 89
92 91
o192 M 93
—o5] %4 93 Fg—
9% 95
9% 95
98 97
100 | %8 97 1799
100 99
102 101
—or] 102 101 55—
104 103
104 ~ 103
106 105
Tog| 106 105 Mo
—701 108 1 107 Fpo—
110 109
T 110 109 M7
114 | 112 el K
1o 114 113 e
116 115
118 117
10 |18 17 ™19
—=—120 ~ 119
12| GND  GND [
GND  GND

FPGA_SDO SH7
FPGA_CSEL SH7
FPGA_SDI SH7
FPGA_SCLK SH7

Ri# TEXAS INSTRUMENTS

ggggg L h UM VM A s A AR d dA AR 1 ol ke

" SCH, TSW3422EVM

Size Document Number Rev
B TIDA-00799 E2

Date:

Thursday, September 01, 2016 [Sheet 6 of 8
| 1




S FPGA_SCLK SH6
< FPGA_SDI SH6

FPGA_SDO SH6
— XFPGA CSEL SH6
5VIN
FB1
V & o
i
57 60 OHM @ 100MHz C581059 R67 R68 © R69 P R70
01uF AuF 4.7uF 0 0 0 0 c
oni  oni § oni § oni
Ji3 = — = U6
USB I/F 20 e Do 2 R71 2 o {SCLK SH4
VBUS
? GNDL D- 16 | yseom b1 2 R72 22 { SDATA SH4
GND2 D+
8 15 3 R7 22
o] GND3 D USBDP D2 3 {SDOUT SH4
GND4 GND c60 | ce1 FTDI_VCCIOL.8V 4 11 R75 22
— ij imp - vccio D3 {SEN sH4
= S e ol2 SHARE PADS .
19 reseT D5
24y N2 D6 [0
2Ly oscl o7 2
2 1 6sco RXF &
17 L avsoutr  TxE ¥
21 AGND RD 3 5
C62 GND
AUF ;f GND WR &4
GND
26 1 TEST  PWREN |2
] FT245RL

Ri# TEXAS INSTRUMENTS

[Title
SCH, TSW3422EVM
Size Document Number Rev
B TIDA-00799 E2
Date: Tr|1ursday. September 01, 2016 [Sheet 7 of 8
4 3 2 1




DO NOT INSTALL

Ri# TEXAS INSTRUMENTS

PPNV ] A eiraa s e ao

SCH, TSW3422EVM

TIDA-00799

5.0V_IN 5VIN
FB2 TP6
1 %/\/8”' 5.0V . — . * * T Ny
J14 2 - —L — _L l
|_| A% 3 ] FUSE 2.0A 63V FAST ce3 L ces 60OHM @ 100MHz | 65 | ce6 67 o
u
CONN JACK PWR IZ2uF 10uF 1uF I.luF 5(76 o O—oe
= Q1 = = = = = GND |
CSD18532Q5 P10
P2~ _ 8 1 | D4 GND
+5V 7 2
b A LED GREEN TP14
RED 6 3 SND
D5 5 <3 PWR O__“_
MBRB2515L N = -
TP3 U7
ND
SLK O %— NC1 VIN 2
GND 4
= 2{Ncs  caTE P12
= TPS2400 +1.2V DVDDlSé’D DVDDL.8V
FTDI_VCCIOL.8V FB3 ?
S L
1K @ 100MHz
FB6
TP11
TP13 1K @ 100MHz AVDD1.8V
5VIN 121V U9 +18V +1.8V RED AVDD1.8V
us : TPS7A8300 RED EB7 :
3 2 L10 T 1 02 _ ALSY —_
_T_ . VIN sw e L INL OUTL g * * ° oo —o ¢ * {7
c68 5 ' l l IN2 OUT2 55 l _Lc72 _Lcs1 _Lcsg - 1K @ 100MHz
2.2uF {R77 EN FB €70 fgﬁz IN3 ouTs c24 ca8 100F O1uF A1UF
0 1 4 4.7uF " 2 0.01uF 22uF 2 P4
L R78 MODE GND __|_ L L EN SENSE L = = = g RED
- 0 TPS62230 — - - NR/SS EB 3 - 5 1
DNI - > v+ ouT
R79 ) +1.8V % Bias b
0 R81 10k 50mv —% = IN:J?SN A R82
DNI R8O PG 100mv = 25.5K
A 200mV g
— c29 L GND 400mV =5
- 0.0luFl GND 800mV =
== PWRPAD  1P6V |
TPS
+4.7V
5VIN V1o LED ATV
8 FB4
\ ¢ \ g IN ouT Z___/ *
_Lc75 _LC?B _Lc77 5 1k @ 100MHz
TlOuF T.luF —|—10u|: EN FB
K= . 5 I NRISS GND
= c80
OLUF 2{nc  TPAD
TPS7A4901
co1
TP7
1uF
u11 4.7V
SVIN TPS60403 w0 o U12 (fRED L1V
FB5 —|_
Lz oo 1 l 5V N oot L N4V _ .
6 z © C90 _che 2 l _Lcs7 1k @ 100MHz DNI =
O lluF IlOuF EN FB css R85 10uF
4 OLUF ¢ 649k
<t — — NR/SS GND 649 e
L ) ) c89 9 )
= IUF NC  TPAD
| TPS7A3001 —— O . S e
- 215K [Title
— Size Document Number
) B
Date:

Rev

E2

EN

Thursday, September 01, 2016
[

[Sheet 8 of 8
1




IMPORTANT NOTICE FOR TI REFERENCE DESIGNS

Texas Instruments Incorporated (‘TI") reference designs are solely intended to assist designers (“Designer(s)”) who are developing systems
that incorporate Tl products. Tl has not conducted any testing other than that specifically described in the published documentation for a
particular reference design.

TI's provision of reference designs and any other technical, applications or design advice, quality characterization, reliability data or other
information or services does not expand or otherwise alter TI's applicable published warranties or warranty disclaimers for Tl products, and
no additional obligations or liabilities arise from TI providing such reference designs or other items.

Tl reserves the right to make corrections, enhancements, improvements and other changes to its reference designs and other items.

Designer understands and agrees that Designer remains responsible for using its independent analysis, evaluation and judgment in
designing Designer’s systems and products, and has full and exclusive responsibility to assure the safety of its products and compliance of
its products (and of all Tl products used in or for such Designer’s products) with all applicable regulations, laws and other applicable
requirements. Designer represents that, with respect to its applications, it has all the necessary expertise to create and implement
safeguards that (1) anticipate dangerous consequences of failures, (2) monitor failures and their consequences, and (3) lessen the
likelihood of failures that might cause harm and take appropriate actions. Designer agrees that prior to using or distributing any systems
that include TI products, Designer will thoroughly test such systems and the functionality of such TI products as used in such systems.
Designer may not use any TI products in life-critical medical equipment unless authorized officers of the parties have executed a special
contract specifically governing such use. Life-critical medical equipment is medical equipment where failure of such equipment would cause
serious bodily injury or death (e.g., life support, pacemakers, defibrillators, heart pumps, neurostimulators, and implantables). Such
equipment includes, without limitation, all medical devices identified by the U.S. Food and Drug Administration as Class Il devices and
equivalent classifications outside the U.S.

Designers are authorized to use, copy and modify any individual TI reference design only in connection with the development of end
products that include the TI product(s) identified in that reference design. HOWEVER, NO OTHER LICENSE, EXPRESS OR IMPLIED, BY
ESTOPPEL OR OTHERWISE TO ANY OTHER TI INTELLECTUAL PROPERTY RIGHT, AND NO LICENSE TO ANY TECHNOLOGY OR
INTELLECTUAL PROPERTY RIGHT OF Tl OR ANY THIRD PARTY IS GRANTED HEREIN, including but not limited to any patent right,
copyright, mask work right, or other intellectual property right relating to any combination, machine, or process in which Tl products or
services are used. Information published by Tl regarding third-party products or services does not constitute a license to use such products
or services, or a warranty or endorsement thereof. Use of the reference design or other items described above may require a license from a
third party under the patents or other intellectual property of the third party, or a license from TI under the patents or other intellectual
property of TI.

TI REFERENCE DESIGNS AND OTHER ITEMS DESCRIBED ABOVE ARE PROVIDED “AS IS” AND WITH ALL FAULTS. TI DISCLAIMS
ALL OTHER WARRANTIES OR REPRESENTATIONS, EXPRESS OR IMPLIED, REGARDING THE REFERENCE DESIGNS OR USE OF
THE REFERENCE DESIGNS, INCLUDING BUT NOT LIMITED TO ACCURACY OR COMPLETENESS, TITLE, ANY EPIDEMIC FAILURE
WARRANTY AND ANY IMPLIED WARRANTIES OF MERCHANTABILITY, FITNESS FOR A PARTICULAR PURPOSE, AND NON-
INFRINGEMENT OF ANY THIRD PARTY INTELLECTUAL PROPERTY RIGHTS.

TI SHALL NOT BE LIABLE FOR AND SHALL NOT DEFEND OR INDEMNIFY DESIGNERS AGAINST ANY CLAIM, INCLUDING BUT NOT
LIMITED TO ANY INFRINGEMENT CLAIM THAT RELATES TO OR IS BASED ON ANY COMBINATION OF PRODUCTS AS
DESCRIBED IN A TI REFERENCE DESIGN OR OTHERWISE. IN NO EVENT SHALL TI BE LIABLE FOR ANY ACTUAL, DIRECT,
SPECIAL, COLLATERAL, INDIRECT, PUNITIVE, INCIDENTAL, CONSEQUENTIAL OR EXEMPLARY DAMAGES IN CONNECTION WITH
OR ARISING OUT OF THE REFERENCE DESIGNS OR USE OF THE REFERENCE DESIGNS, AND REGARDLESS OF WHETHER TI
HAS BEEN ADVISED OF THE POSSIBILITY OF SUCH DAMAGES.

TI's standard terms of sale for semiconductor products (http://www.ti.com/sc/docs/stdterms.htm) apply to the sale of packaged integrated
circuit products. Additional terms may apply to the use or sale of other types of Tl products and services.

Designer will fully indemnify TI and its representatives against any damages, costs, losses, and/or liabilities arising out of Designer’s non-
compliance with the terms and provisions of this Notice.

Mailing Address: Texas Instruments, Post Office Box 655303, Dallas, Texas 75265
Copyright © 2016, Texas Instruments Incorporated


http://www.ti.com/sc/docs/stdterms.htm

